

On a New Subclass of Meromorphic Univalent Functions with Negative Coefficients Defined by Liu-Srivastava Linear Operator

WaggasGalibAtshan

*Department of Mathematics, College of Computer Science and Mathematics
University of Al-Qadisiya, Diwaniya-Iraq
E-mail: waggashnd@gmail.com; waggas_hnd@yahoo.com*

Ali Hussein Battor

*Department of Mathematics, College of Education for Girls
University of Kufa, Najaf – Iraq
E-mail: battor_ali@yahoo.com*

Amal Mohammed Dereush

*Department of Mathematics, College of Education for Girls
University of Kufa, Najaf – Iraq
E-mail: amalmohammed60@yahoo.com*

Abstract

In The present paper, we introduce and discuss a new subclass of meromorphic univalent functions defined by Liu-Srivastava linear operator, we obtain various important properties, like, coefficient inequalities, extreme points, closure theorems, (n, δ) -neighborhoods of a functions $f \in A^*$ and partial sums. We also consider integral transforms of functions in the class $A^*(g, \gamma, k, \lambda)$ and obtain some results.

Keywords: Meromorphic Univalent Functions, Liu-Srivastava Linear Operator, HadamardProduct, Extreme Points, Closure Theorems, Neighborhoods, Partial Sums, Integral Transform.

AMS subject classification: 30C45.

1. Introduction

Let A^* denote the class of functions of the form:

$$f(z) = \frac{1}{z} - \sum_{n=1}^{\infty} a_n z^n, \dots (a_n \geq 0, n \in N = \{1, 2, \dots\}) \quad (1)$$

Which are analytic and meromorphic univalent in the punctured unit disk

$$U^* = \{z \in \mathbb{C} : 0 < |z| < 1\} = U \setminus \{0\}.$$

Let $A^*(\gamma)$ and $A_k^*(\gamma)$, $(0 \leq \gamma < 1)$. denote the subclass of A^* that are meromorphically starlike functions of order γ and meromorphically convex functions of order γ respectively. Analytically, $f \in A^*(\gamma)$ if and only if, f is of the form (1) and satisfy

$$-\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \gamma, z \in U,$$

Similarly, $f \in A_k^*(\gamma)$, if and only if, f is of the form (1) and satisfies

$$-\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \gamma, \quad z \in U,$$

and similar other classes of meromorphically univalent functions have been extensively studied by (for example) Altıntaş et al. [2], Aouf [3], Mogra et al. [13], Uralegadi et al. [18,19, 20] and others (see [7,14,15]).

Let $f, g \in A^*$, where f is given by (1) and g is defined by

$$g(z) = \frac{1}{z} - \sum_{n=1}^{\infty} b_n z^n \tag{2}$$

Then the Hadamard product (or convolution) $f * g$ of the functions f and g is defined by

$$(f * g)(z) = \frac{1}{z} - \sum_{n=1}^{\infty} a_n b_n z^n = (g * f)(z). \tag{3}$$

For complex parameters $\alpha_1, \dots, \alpha_l$ and β_1, \dots, β_m ($\beta_j \neq 0, -1, \dots; j = 1, 2, \dots, m$)

The generalized hypergeometric function ${}_tF_m(z)$ is defined by

$${}_tF_m(z) = {}_tF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_l)_n z^n}{(\beta_1)_n \dots (\beta_m)_n n!} \tag{4}$$

($t \leq m + 1; t, m \in N_0 = N \cup \{0\}; Z \in U$),

Where $(\theta)_n$ is the pochhammer symbol defined by

$$(\theta)_n = \frac{\Gamma(\theta + n)}{\Gamma(\theta)} = \begin{cases} 1, & n = 0; \theta \in \mathbb{C} \setminus \{0\}, \\ \theta(\theta + 1)(\theta + 2) \dots (\theta + n - 1), & n \in \mathbb{N}; \theta \in \mathbb{C}. \end{cases} \tag{5}$$

Corresponding to a function ${}_tF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z)$ defined by

$$Q(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) = z^{-1} {}_tF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) \tag{6}$$

Liu and Srivastava [11] considered a linear operator

$$L(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m) : A^* \rightarrow A^*,$$

Defined by the following Hadamard product (or convolution):

$$\begin{aligned} L(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m) f(z) &= Q(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) * f(z) \\ &= z^{-1} - \sum_{n=1}^{\infty} \left| \frac{(\alpha_1)_{n+1} \dots (\alpha_l)_{n+1}}{(\beta_1)_{n+1} \dots (\beta_m)_{n+1}} \right| \frac{a_n z^n}{(n+1)!} \end{aligned} \tag{7}$$

Where, $\alpha_i > 0, (i = 1, 2, \dots, l), \beta_j > 0, (j = 1, 2, \dots, m), l \leq m + 1; m \in N_0 = N \cup \{0\}$. For notional simplicity, we use a shorter notations $L[\alpha_1]$ for

$$L(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m) \text{ and}$$

$$\Gamma_n(\alpha_1) = \left| \frac{(\alpha_1)_{n+1} \dots (\alpha_l)_{n+1}}{(\beta_1)_{n+1} \dots (\beta_m)_{n+1}} \right| \frac{1}{(n+1)!} \tag{8}$$

Unless otherwise stated in the sequel. We note that the linear operator $H_m^l[\alpha_1]$ was earlier defined for multivalent functions by Dziok and Srivastava [8] and was investigated by Liu and Srivastava [11]. Motivated by Ravichandaran et al. [17] and Atshan et al. [6], making use of the operator $L[\alpha_1]$, now defined a new subclass $A^*(g, \gamma, k, \lambda)$ of A^* .

Definition 1: For $0 \leq \gamma < 1, k \geq 0$ and $0 \leq \lambda < \frac{1}{3}$, we let $A^*(g, \gamma, k, \lambda)$ by the subclass of A^* consisting of functions of the form (1) and satisfying the analytic criterion

$$-\operatorname{Re} \left\{ \frac{z^2(L[\alpha_1]f * g(z))''}{L[\alpha_1]f * g(z)} + \lambda \frac{z^3(L[\alpha_1]f * g(z))'''}{L[\alpha_1]f * g(z)} + \gamma \right\} > k \left| \frac{z^2(L[\alpha_1]f * g(z))''}{L[\alpha_1]f * g(z)} + \lambda \frac{z^3(L[\alpha_1]f * g(z))'''}{L[\alpha_1]f * g(z)} + 1 \right|. \quad (9)$$

Also by suitably choosing $g(z)$ involved in the class, the class $A^*(g, \gamma, k, \lambda)$ reduces to various new subclasses. These considerations can fruitfully be worked out and we skip the details in the regard

The main object of this paper is to study some usual properties of the geometric function theory such as the coefficient inequalities, extreme points, closure theorems, neighborhoods of a function $f \in A^*$, partial sums and integral transforms of functions in the class $A^*(g, \gamma, k, \lambda)$.

2. Coefficient Inequalities

In the following theorem, we obtain necessary and sufficient condition for a function f to be in the class $f \in A^*(g, \gamma, k, \lambda)$. In this connection, we need and state the following lemmas:

Lemma 1 [4]: If γ is a real number and $w = -(u + iv)$ is a complex number, then $\operatorname{Re}(w) \geq \gamma$ if and only if $|w + (1 - \gamma)| - |w - (1 + \gamma)| \geq 0$.

Lemma 2 [6]: If $w = u + iv$ is a complex number and γ, k are real numbers, then $-\operatorname{Re}(w) \geq k|w + 1| + \gamma$ if and only if $-\operatorname{Re}(w(1 + ke^{i\theta}) + ke^{i\theta}) \geq \gamma, -\pi \leq \theta \leq \pi$.

Theorem 1: Let $f \in A^*$ be given by (1). Then $A^*(g, \gamma, k, \lambda)$ if and only if

$$\sum_{n=1}^{\infty} (n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma)) \Gamma_n(\alpha_1) a_n b_n \leq 3(k(1-2\lambda) - 2\lambda) + (2+\gamma). \quad (10)$$

Proof: By Definition 1, we obtain

$$-\operatorname{Re} \left\{ \frac{z^2(L[\alpha_1]f * g(z))''}{L[\alpha_1]f * g(z)} + \lambda \frac{z^3(L[\alpha_1]f * g(z))'''}{L[\alpha_1]f * g(z)} + \gamma \right\} > k \left| \frac{z^2(L[\alpha_1]f * g(z))''}{L[\alpha_1]f * g(z)} + \lambda \frac{z^3(L[\alpha_1]f * g(z))'''}{L[\alpha_1]f * g(z)} + 1 \right|$$

Then by Lemma 2, we have

$$-\operatorname{Re} \left\{ \left(\frac{z^2(L[\alpha_1]f * g(z))''}{L[\alpha_1]f * g(z)} + \lambda \frac{z^3(L[\alpha_1]f * g(z))'''}{L[\alpha_1]f * g(z)} \right) (1 + ke^{i\theta}) + ke^{i\theta} \right\} \geq \gamma, -\pi \leq \theta \leq \pi. \quad (11)$$

For convenience, we let

$$A(z) = -[z^2(L[\alpha_1]f * g(z))'' + \lambda z^3(L[\alpha_1]f * g(z))'''](1 + ke^{i\theta}) - ke^{i\theta} L[\alpha_1]f * g(z).$$

$$B(z) = L[\alpha_1]f * g(z).$$

That is, the equation (11) is equivalent to

$$\operatorname{Re} \left(\frac{A(z)}{B(z)} \right) \geq \gamma.$$

In view of Lemma 1, we only need to prove that

$$|A(z) + (1 - \gamma)B(z)| - |A(z) - (1 + \gamma)B(z)| \geq 0.$$

Therefore

$$\begin{aligned}
 & |A(z) + (1 - \gamma)B(z)| = \\
 & \left| - \left(3ke^{i\theta}(1 - 2\lambda) - 6\lambda + (1 + \gamma) \right) \frac{1}{z} \right. \\
 & \quad \left. + \sum_{n=1}^{\infty} \left(n(n-1)(1 + ke^{i\theta})(1 + \lambda(n-2)) + ke^{i\theta} \right. \right. \\
 & \quad \left. \left. - (1 - \gamma) \Gamma_n(\alpha_1) a_n b_n z^n \right) \right| \\
 & \geq \left(3k(1 - 2\lambda) - 6\lambda + (1 + \gamma) \right) \frac{1}{|z|} \\
 & \quad - \sum_{n=1}^{\infty} \left(n(n-1)(1 + k)(1 + \lambda(n-2)) + k \right. \\
 & \quad \left. - (1 - \gamma) \Gamma_n(\alpha_1) a_n b_n |z|^n \right).
 \end{aligned}$$

And

$$\begin{aligned}
 & |A(z) - (1 + \gamma)B(z)| \\
 & = \left| (3(2\lambda - 1)(1 + k) - \gamma) \frac{1}{z} \right. \\
 & \quad \left. + \sum_{n=1}^{\infty} \left(n(n-1)(1 + ke^{i\theta})(1 + \lambda(n-2)) + ke^{i\theta} \right. \right. \\
 & \quad \left. \left. + (1 + \gamma) \Gamma_n(\alpha_1) a_n b_n z^n \right) \right| \\
 & \leq (3(2\lambda - 1)(1 + k) - \gamma) \frac{1}{|z|} \\
 & \quad + \sum_{n=1}^{\infty} \left(n(n-1)(1 + k)(1 + \lambda(n-2)) + k \right. \\
 & \quad \left. + (1 + \gamma) \Gamma_n(\alpha_1) a_n b_n |z|^n \right).
 \end{aligned}$$

It is now easy to show that

$$\begin{aligned}
 & |A(z) + (1 - \gamma)B(z)| - |A(z) + (1 + \gamma)B(z)| \\
 & \geq 2(3k(1 - 2\lambda) + (2 + \gamma) - 6\lambda) \frac{1}{|z|} \\
 & \quad - 2 \sum_{n=1}^{\infty} \left(n(n-1)(1 + k)(1 + \lambda(n-2)) \right. \\
 & \quad \left. + (k + \gamma) \Gamma_n(\alpha_1) a_n b_n |z|^n \right) \geq 0,
 \end{aligned}$$

Which is equivalent to

$$\sum_{n=1}^{\infty} \left(n(n-1)(1 + k)(1 + \lambda(n-2)) + (k + \gamma) \right) \Gamma_n(\alpha_1) a_n b_n \leq 3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma).$$

Conversely, suppose that (10) hold true. Then, we must show

$$-\operatorname{Re} \left\{ \frac{\left[z^2(L[\alpha_1]f * g(z))'' + \lambda z^3(L[\alpha_1]f * g(z))''' \right] (1 + ke^{i\theta}) + ke^{i\theta} L[\alpha_1]f * g(z)}{L[\alpha_1]f * g(z)} \right\} \geq \gamma.$$

Upon choosing the values of z on the positive real axis, where $0 \leq z = r < 1$, the above inequality reduces to

$$\operatorname{Re} \left\{ \frac{\left(3 \left((1 - 2\lambda)ke^{i\theta} - 2\lambda \right) + (2 + \gamma) \right) \frac{1}{z^2} - \sum_{n=1}^{\infty} \left(n(n-1)(1 + ke^{i\theta})(1 + \lambda(n-2)) + ke^{i\theta} + \gamma \right) \Gamma_n(\alpha_1) a_n b_n z^{n-1}}{\frac{1}{z^2} - \sum_{n=1}^{\infty} \Gamma_n(\alpha_1) a_n b_n z^{n-1}} \right\} \geq 0.$$

Since $\operatorname{Re}(-e^{i\theta}) \geq -|e^{i\theta}| = -1$, the above inequality reduce to

$$\operatorname{Re} \left\{ \frac{\left(3((1-2\lambda)k-2\lambda) + (2+\gamma)\right) \frac{1}{r^2} - \sum_{n=1}^{\infty} (n(n-1)(1+k)(1+\lambda(n-2)) + k + \gamma) \Gamma_n(\alpha_1) a_n b_n r^{n-1}}{\frac{1}{r^2} - \sum_{n=1}^{\infty} \Gamma_n(\alpha_1) a_n b_n z^{n-1}} \right\} \geq 0.$$

Letting $r \rightarrow 1^-$ and by the mean value theorem, we have desired inequality (10).

Corollary 1: If $f \in A^*(g, \gamma, k, \lambda)$, then

$$a_n \leq \frac{3(k(1-2\lambda) - 2\lambda) + (2 + \gamma)}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + (k + \gamma)\right) \Gamma_n(\alpha_1) b_n}. \quad (12)$$

In the next theorem, we obtain the extreme points for the class $A^*(g, \gamma, k, \lambda)$.

Theorem2: Let

$$f_0(z) = \frac{1}{z} \text{ and}$$

$$f_n(z) = \frac{1}{z} - \frac{3(k(1-2\lambda) - 2\lambda) + (2 + \gamma)}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + (k + \gamma)\right) \Gamma_n(\alpha_1) b_n} z^n,$$

Where $(n \geq 1, n \in \mathbb{N}, 0 \leq \gamma < 1, k \geq 0, 0 \leq \lambda < \frac{1}{3})$ and $\Gamma_n(\alpha_1)$ is given by (8)

Then f is in the class $A^*(g, \gamma, k, \lambda)$ if and only if it can be expressed in the form

$$f(z) = \sum_{n=0}^{\infty} \sigma_n f_n(z),$$

Where

$$\left(\sigma_n \geq 0 \text{ and } \sum_{n=0}^{\infty} \sigma_n = 1 \text{ or } 1 = \sigma_0 + \sum_{n=1}^{\infty} \sigma_n \right)$$

Proof: Let

$$\begin{aligned} (z) &= \sum_{n=0}^{\infty} \sigma_n f_n(z) \\ &= \frac{1}{z} - \sum_{n=1}^{\infty} \frac{(3(k(1-2\lambda) - 2\lambda) + (2 + \gamma)) \sigma_n}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + (k + \gamma)\right) \Gamma_n(\alpha_1) b_n} z^n. \end{aligned}$$

Then

$$\begin{aligned} &\sum_{n=1}^{\infty} \left(\frac{\left(n(n-1)(1+k)(1+\lambda(n-2)) + (k + \gamma)\right) \Gamma_n(\alpha_1) b_n}{3(k(1-2\lambda) - 2\lambda) + (2 + \gamma)} \right)^* \\ &\sigma_n \frac{3(k(1-2\lambda) - 2\lambda) + (2 + \gamma)}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + (k + \gamma)\right) \Gamma_n(\alpha_1) b_n} \\ &= \sum_{n=1}^{\infty} \sigma_n = 1 - \sigma_0 \leq 1. \end{aligned}$$

Using Theorem 1, we easily get $f \in A^*(g, \gamma, k, \lambda)$.

Conversely, let $f \in A^*(g, \gamma, k, \lambda)$ is of the form (1). Then

$$a_n \leq \frac{3(k(1-2\lambda) - 2\lambda) + (2 + \gamma)}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + (k + \gamma)\right) \Gamma_n(\alpha_1) b_n}, \quad (n \in \mathbb{N}, n \geq 1).$$

Setting

$$\sigma_n = \frac{(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)b_n}{3(k(1-2\lambda) - 2\lambda) + (2+\gamma)} a_n, \text{ for } n = 1, 2, 3, \dots$$

And

$$\sigma_0 = 1 - \sum_{n=1}^{\infty} \sigma_n. \text{ Then}$$

$$f(z) = \sum_{n=0}^{\infty} \sigma_n f_n(z) = \sigma_0 f_0 + \sum_{n=1}^{\infty} \sigma_n f_n(z).$$

Now, we shall prove that the class $A^*(g, \gamma, k, \lambda)$ is closed under arithmetic mean and convex linear combinations.

Let the function

$$f_i(z) (i = 1, 2, \dots, m) \text{ be defined by } f_i(z) = \frac{1}{z} - \sum_{n=1}^{\infty} a_{n,i} z^n, (a_{n,i} \geq 0, n \in N, n \geq 1). \quad (13)$$

Theorem 3: Let the function $f_i(z)$ defined by (13) be in the class $A^*(g, \gamma, k, \lambda)$

For every $i=1, 2, \dots, m$. Then the function $h(z)$ defined by

$$h(z) = \frac{1}{z} - \sum_{n=1}^{\infty} c_n z^n, (c_n \geq 0, n \in N, n \geq 1)$$

Also belongs to the class $A^*(g, \gamma, k, \lambda)$, where

$$c_n = \frac{1}{m} \sum_{i=1}^m a_{n,i}.$$

Proof: Since $f_i(z) \in A^*(g, \gamma, k, \lambda)$, therefore from Theorem 1, we obtain

$$\sum_{n=1}^{\infty} (n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)a_{n,i}b_n \leq 3(k(1-2\lambda) - 2\lambda) + (2+\gamma). \quad (14)$$

Hence

$$\begin{aligned} & \sum_{n=1}^{\infty} (n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)c_n b_n \\ &= \sum_{n=1}^{\infty} (n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)b_n \left[\frac{1}{m} \sum_{i=1}^m a_{n,i} \right] \\ & \leq 3(k(1-2\lambda) - 2\lambda) + (2+\gamma) \end{aligned}$$

(By (14)) which shows that $h(z) \in A^*(g, \gamma, k, \lambda)$.

Theorem 4: Let the function $f_i(z)$ defined by (13) be in the class $A^*(g, \gamma, k, \lambda)$ for every $i=1, 2, \dots, m$. Then the function $h(z)$ defined by

$$h(z) = \sum_{i=1}^m d_i f_i(z) \text{ and } \sum_{i=1}^m d_i = 1, (d_i \geq 0).$$

In the class $A^*(g, \gamma, k, \lambda)$

Proof: By definition of $h(z)$, we have

$$h(z) = \left[\sum_{i=1}^m d_i \right] \frac{1}{z} - \sum_{n=1}^{\infty} \left[\sum_{i=1}^m d_i a_{n,i} \right] z^n.$$

Since $f_i(z)$ are in the class $A^*(g, \gamma, k, \lambda)$ for every $i=1, 2, \dots, m$, we obtain

$$\sum_{n=1}^{\infty} \left(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma) \right) \Gamma_n(\alpha_1) a_{n,i} b_n$$

$$\leq 3(k(1-2\lambda) - 2\lambda) + (2+\gamma)$$

For every $i=1,2,\dots,m$. Hence we can see that

$$\sum_{n=1}^{\infty} \left(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma) \right) \Gamma_n(\alpha_1) b_n \left[\sum_{i=1}^{\infty} d_i a_{n,i} \right]$$

$$= \sum_{i=1}^m d_i \left[\sum_{n=1}^{\infty} \left(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma) \right) \Gamma_n(\alpha_1) a_{n,i} b_n \right]$$

$$\leq (3(k(1-2\lambda) - 2\lambda) + (2+\gamma)) \sum_{i=1}^m d_i = 3(k(1-2\lambda) - 2\lambda) + (2+\gamma) .$$

Thus $h(z) \in A^*(g, \gamma, k, \lambda)$.

Theorem 5: The class $A^*(g, \gamma, k, \lambda)$ is closed under convex linear combination.

Proof: Let the function $f_i(z)$ ($i=1,2$) defined by (13) be in the class $A^*(g, \gamma, k, \lambda)$.

We show the function

$$h(z) = \sigma f_1(z) + (1-\sigma)f_2(z), \quad (0 \leq \sigma \leq 1)$$

Is also in the class $A^*(g, \gamma, k, \lambda)$. Since for $0 \leq \sigma \leq 1$,

$$h(z) = \frac{1}{z} + \sum_{n=1}^{\infty} [\sigma a_{n,1} + (1-\sigma)a_{n,2}] z^n .$$

Therefore by Theorem 1, we have

$$\sum_{n=1}^{\infty} \left(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma) \right) \Gamma_n(\alpha_1) b_n [\sigma a_{n,1} + (1-\sigma)a_{n,2}]$$

$$= \sigma \sum_{n=1}^{\infty} \left(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma) \right) \Gamma_n(\alpha_1) b_n a_{n,1}$$

$$+ (1-\sigma) \sum_{n=1}^{\infty} \left(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma) \right) \Gamma_n(\alpha_1) b_n a_{n,2}$$

$$\leq 3(k(1-2\lambda) - 2\lambda) + (2+\gamma)$$

Hence by Theorem 1, we obtain $h(z) \in A^*(g, \gamma, k, \lambda)$ and this completes the proof.

The concept of neighborhood of analytic functions was first introduced by Goodman [9] and Ruscheweyh [16] investigated concept for the elements of several famous subclasses of analytic functions and Altıntaş and Owa [1] considered for a certain family of analytic functions with negative coefficients, also Liu and Srivastava [12] and Atshan [5] extended this concept for a certain subclass of meromorphically univalent and multivalent functions.

Now, we defined the (n, δ) -neighborhood of a function $f \in A^*$ by:

$$N_{n,\delta}(f) = \left\{ h \in A^* : h(z) = \frac{1}{z} - \sum_{n=1}^{\infty} c_n z^n \text{ and } \sum_{n=1}^{\infty} n|a_n - c_n| \leq \delta, 0 \leq \delta < 1 \right\}. \quad (15)$$

For the identity function $e(z) = z$, we have

$$N_{n,\delta}(e) = \left\{ h \in A^* : h(z) = \frac{1}{z} - \sum_{n=1}^{\infty} c_n z^n \text{ and } \sum_{n=1}^{\infty} n|c_n| \leq \delta \right\}.$$

Definition 2: A function $f \in A^*$ is said to be in the class $A^*(g, \gamma, k, \lambda)$ if there exists a function $h \in A^*(g, \gamma, k, \lambda)$ such that

$$\left| \frac{f(z)}{g(z)} - 1 \right| < 1 - \eta, \quad (z \in U, 0 \leq \eta < 1).$$

Theorem 6: If $h \in A^*(g, \gamma, k, \lambda)$ and

$$\eta = 1 - \frac{(k + \gamma)\Gamma_1(\alpha_1)a_1(3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma))}{(k + \gamma)\Gamma_1(\alpha_1)a_1 - 3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma)}. \quad (16)$$

Thus $N_{n,\delta}(h) \subset A^{*\eta}(g, \gamma, k, \lambda)$.

Proof: Let $f \in N_{n,\delta}(h)$. We want to find from (15) that

$$\sum_{n=1}^{\infty} n|a_n - c_n| \leq \delta,$$

Which readily implies the following coefficient inequality

$$\sum_{n=1}^{\infty} |a_n - c_n| \leq \delta, \quad (n \in N).$$

Next, Since $h \in A^*(g, \gamma, k, \lambda)$, we have from Theorem 1

$$\sum_{n=1}^{\infty} c_n \leq \frac{3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma)}{(k + \gamma)\Gamma_1(\alpha_1)a_1}. \quad (17)$$

So that

$$\left| \frac{f(z)}{g(z)} - 1 \right| \leq \frac{\sum_{n=1}^{\infty} |a_n - c_n|}{1 - \sum_{n=1}^{\infty} c_n} \leq \frac{(k + \gamma)\Gamma_1(\alpha_1)a_1(3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma))}{(k + \gamma)\Gamma_1(\alpha_1)a_1 - 3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma)} = 1 - \eta.$$

Thus by Definition2, $f \in A^{*\eta}(g, \gamma, k, \lambda)$ for η given by (16).

Now, we introduce the partial sums and the same property has been found for other class in [10].

Theorem 7: Let $f \in A^*$ begiven by (1) and define the partial sums $S_1(z)$ and $S_i(z)$ by:

$$S_1(z) = \frac{1}{z} \quad \text{and} \quad S_i(z) = \frac{1}{z} - \sum_{n=1}^{i-1} a_n z^n,$$

Suppose also that

$$\sum_{n=1}^{\infty} d_n a_n \leq 1, \quad \left(d_n = \frac{(n(n - 1)(1 + k)(1 + \lambda(n - 2)) + (k + \gamma)) \Gamma_n(\alpha_1) b_n}{3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma)} \right). \quad (18)$$

Then, We have

$$Re \left\{ \frac{f(z)}{S_i(z)} \right\} > 1 - \frac{1}{d_i} \quad (19)$$

And

$$Re \left\{ \frac{f(z)}{S_i(z)} \right\} > \frac{d_i}{1 + d_i}. \quad (20)$$

Each of the bounds in (19) and (20) is the best possible for $n \in N$

Proof: For the coefficients d_n given by (18), it is not difficult to verify that

$$d_{n+1} > d_n > 1, \quad n = 1, 2, \dots$$

Therefore, by using hypothesis (18), we have

$$\sum_{n=1}^{l-1} a_n + d_l \sum_{n=l}^{\infty} a_n \leq \sum_{n=1}^{\infty} d_n a_n \leq 1. \quad (21)$$

By setting

$$g_1(z) = d_l \left(\frac{f(z)}{S_l(z)} - \left(1 - \frac{1}{d_l}\right) \right) = 1 - \frac{d_l \sum_{n=l}^{\infty} a_n z^{n+1}}{1 - \sum_{n=1}^{l-1} a_n z^{n+1}}, \quad (22)$$

And applying (21), we find that

$$\left| \frac{g_1(z) - 1}{g_1(z) + 1} \right| \leq \frac{d_l \sum_{n=l}^{\infty} a_n}{2 - 2 \sum_{n=1}^{l-1} a_n - d_l \sum_{n=l}^{\infty} a_n} \leq 1, \quad (23)$$

Which readily yields the assertion (19).if we take

$$f(z) = \frac{1}{z} - \frac{z^l}{d_l}, \quad (24)$$

Then

$$\frac{f(z)}{S_l(z)} = 1 - \frac{z^l}{d_l} \rightarrow 1 - \frac{1}{d_l} (z \rightarrow 1^-),$$

Which shows that the bound in (19) is the best possible for each $n \in \mathbb{N}$.

Similarly, if we put

$$g_2(z) = (1 + d_l) \left[\frac{S_l(z)}{f(z)} - \frac{d_l}{1 + d_l} \right] = 1 + \frac{(1 + d_l) (\sum_{n=l}^{\infty} a_n z^{n+1})}{1 - \sum_{n=1}^{\infty} a_n z^{n+1}}, \quad (25)$$

And make use of (21), we have

$$\left| \frac{g_2(z) - 1}{g_2(z) + 1} \right| \leq \frac{(1 + d_l) (\sum_{n=l}^{\infty} a_n)}{2 - 2 \sum_{n=1}^{\infty} a_n + (1 + d_l) \sum_{n=l}^{\infty} a_n}, \quad (26)$$

Which leads us to the assertion (20). The bound in (20) is sharp for each $n \in \mathbb{N}$

With function given by (24).The proof of the theorem is complete.

In the below, we consider integral transforms of functions in the class $A^*(g, \gamma, k, \lambda)$,

Some of these integral transforms was studied byAtshan on the other class in [5].

Theorem 8: Let the function f given by (1) be in the class $A^*(g, \gamma, k, \lambda)$. Then the integral operator

$$F(z) = c \int_0^1 u^c f(uz) du, \quad (0 < u \leq 1, \quad 0 < c < \infty) \quad (27)$$

is in the class $A^*(g, \gamma, k, \lambda)$, where

$$\Omega = \frac{cw(k + n(n - 1)(1 + k)(1 + \lambda(n - 2)) - y(c + n + 1)(2 + 3(k(1 - 2\lambda) - 2\lambda))}{y(c + n + 1) - cw}.$$

The result is sharp for the function

$$f(z) = \frac{1}{z} - \frac{3(k(1 - 2\lambda) - 2\lambda) + (2 + \gamma)}{(k + \gamma)\Gamma_1(\alpha_1)b_1} z^1.$$

Proof: Let

$$f(z) = \frac{1}{z} - \sum_{n=1}^{\infty} a_n z^n.$$

In the class $A^*(g, \gamma, k, \lambda)$. Then

$$\begin{aligned}
 F(z) &= c \int_0^1 u^c f(uz) du \\
 &= c \int_0^1 \left(\frac{u^{c-1}}{z} - \sum_{n=1}^{\infty} a_n u^{n+c} z^n \right) du = \frac{1}{z} - \sum_{n=1}^{\infty} \frac{c}{c+n+1} a_n z^n.
 \end{aligned}
 \tag{28}$$

It is sufficient to show that

$$\sum_{n=1}^{\infty} \frac{c(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\Omega))\Gamma_n(\alpha_1)b_n a_n}{(c+n+1)(3(k(1-2\lambda)-2\lambda) + (2+\Omega))} \leq 1.
 \tag{29}$$

Since $f \in A^*(g, \gamma, k, \lambda)$, We have

$$\sum_{n=1}^{\infty} \frac{(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)a_n b_n}{3(k(1-2\lambda)-2\lambda) + (2+\gamma)} \leq 1.$$

Note that (27) it satisfied if

$$\begin{aligned}
 &\frac{c(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\Omega))\Gamma_n(\alpha_1)b_n a_n}{(c+n+1)(3(k(1-2\lambda)-2\lambda) + (2+\Omega))} \leq \\
 &\frac{(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)a_n b_n}{3(k(1-2\lambda)-2\lambda) + (2+\gamma)}
 \end{aligned}$$

Rewriting the inequality, we have

$$\begin{aligned}
 &(c+n+1)(3(k(1-2\lambda)-2\lambda) + (2+\Omega)) (n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma)) \\
 &\leq (3(k(1-2\lambda)-2\lambda) + (2+\gamma))c (n(n-1)(1+k)(1+\lambda(n-2)) + (k+\Omega)).
 \end{aligned}$$

Solving for Ω , we have

$$\begin{aligned}
 \Omega &\leq \frac{cw(k+n(n-1)(1+k)(1+\lambda(n-2)) - y(c+n+1)(2+3(k(1-2\lambda)-2\lambda))}{y(c+n+1) - cw} \\
 &= F(n),
 \end{aligned}
 \tag{30}$$

Where

$$w = 3(k(1-2\lambda)-2\lambda) + (2+\gamma), \quad y = n(n-1)(1+k)(1+\lambda(n-2)) + (2+\gamma).$$

A simple computation will show that $F(n)$ is increasing $F(n) \geq F(1)$.

Using this, the results follows

Theorem 9: Let the function f given by (1) be in the class $A^*(g, \gamma, k, \lambda)$.

Then the function F defined by (28) is convex in the disk $|z| < R_1$, where

$$R_1 = \inf_n \left\{ \frac{(c+n+1)(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma))\Gamma_n(\alpha_1)b_n}{cn(n+1)(3(k(1-2\lambda)-2\lambda) + (2+\gamma))} \right\}^{\frac{1}{n+1}}.
 \tag{31}$$

Proof: We show that

$$\left| \frac{zF''(z)}{F'(z)} + 2 \right| \leq 1 \quad \text{in } |z| < R_1,
 \tag{32}$$

R_1 is given by (31). In view of (28), we have

$$\begin{aligned}
 \left| \frac{zF''(z) + 2F'(z)}{F'(z)} \right| &= \left| \frac{-\sum_{n=1}^{\infty} \frac{cn^2}{c+n+1} a_n z^{n+1}}{1 + \sum_{n=1}^{\infty} \frac{cn}{c+n+1} a_n z^{n+1}} \right| \\
 &\leq \frac{\sum_{n=1}^{\infty} \frac{cn^2}{c+n+1} a_n |z|^{n+1}}{1 - \sum_{n=1}^{\infty} \frac{cn}{c+n+1} a_n |z|^{n+1}} \leq 1.
 \end{aligned}$$

Hence

$$\sum_{n=1}^{\infty} \frac{cn^2}{c+n+1} a_n |z|^{n+1} \leq 1.$$

This is enough to consider

$$|z|^{n+1} \leq \frac{(c+n+1)(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma)) \Gamma_n(\alpha_1) b_n}{cn(n+1)(3(k(1-2\lambda)-2\lambda) + (2+\gamma))}.$$

Therefore,

$$|z| \leq \left\{ \frac{(c+n+1)(n(n-1)(1+k)(1+\lambda(n-2)) + (k+\gamma)) \Gamma_n(\alpha_1) b_n}{cn(n+1)(3(k(1-2\lambda)-2\lambda) + (2+\gamma))} \right\}^{\frac{1}{n+1}},$$

For $n \geq 1, n \in N$. The result follows by setting $|z| = R_1$.

Theorem 10: Let $f \in A^*(g, \gamma, k, \lambda)$. Then the integral operator

$$F(z) = c \int_0^1 u^c f(uz) du, \quad (0 < u \leq 1, \quad 0 < c < \infty),$$

is in the class $A^*\left(g, \frac{1+\gamma c}{2+c}, k, \lambda\right)$.

The result is sharp for

$$f_n(z) = \frac{1}{z} - \frac{3(k(1-2\lambda)-2\lambda) + (2 + \frac{1+\gamma c}{2+\gamma})}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + \left(k + \frac{1+\gamma c}{2+\gamma}\right)\right) \Gamma_n(\alpha_1) b_n} z^n.$$

Proof: By definition of F, we obtain

$$F(z) = c \int_0^1 u^c f(uz) du = \frac{1}{z} - \sum_{n=1}^{\infty} \frac{cn}{c+n+1} a_n z^n.$$

By Theorem 1, it is sufficient to show that

$$\sum_{n=1}^{\infty} \frac{\left(n(n-1)(1+k)(1+\lambda(n-2)) + \left(k + \frac{1+\gamma c}{2+c}\right)\right) \Gamma_n(\alpha_1) b_n}{(c+n+1)(3(k(1-2\lambda)-2\lambda) + (2 + \frac{1+\gamma c}{2+c}))} a_n \leq 1, \quad (33)$$

Since, If $f \in A^*(g, \gamma, k, \lambda)$, then (33) satisfied if

$$\frac{c}{(c+n+1)(3(k(1-2\lambda)-2\lambda) + (2 + \frac{1+\gamma c}{2+c}))} \leq \frac{1}{3(k(1-2\lambda)-2\lambda) + (2+\gamma)}$$

or equivalent, when

$$\varnothing(n, c, k, \lambda, \gamma) = \frac{c(3(k(1-2\lambda)-2\lambda) + (2+\gamma))}{(c+n+1)(3(k(1-2\lambda)-2\lambda) + (2 + \frac{1+\gamma c}{2+c}))} \leq 1.$$

Since $\varnothing(n, c, k, \lambda, \gamma)$ is a decreasing function of $n(n \geq 1)$, then the proof is completed. The result is sharp for the function

$$f_n(z) = \frac{1}{z} - \frac{3(k(1-2\lambda)-2\lambda) + (2 + \frac{1+\gamma c}{2+c})}{\left(n(n-1)(1+k)(1+\lambda(n-2)) + \left(k + \frac{1+\gamma c}{2+c}\right)\right) b_n} z^n.$$

References

- [1] O. Altintas and S. Owa, Neighborhoods of certain analytic functions with negative coefficients, *Int.J.Math.Sci.*, 19(1996), 797-800.
- [2] O. Altintas, H. Irmak and H. M. Srivastava, A family of meromorphically univalent functions with positive coefficients, *panamer. Math.J.*, 5(1)(1995),75-81.
- [3] M. K. Aouf, On a certain class of meromorphic univalent functions with positive coefficients, *Rend. Mat. Apple*, 7(11) (1991), 209-219.
- [4] E. S. Aqlan, Some Problems Connected with Geometric Function Theory, Ph.D.Thesis (2004), Pune University, Pune.
- [5] W. G. Atshan, Subclass of meromorphic functions with positive coefficient defined by Ruscheweyh derivative II, *J. Surveys in Math. With its Applications*, 3(1)(2008),67-77.
- [6] W. G. Atshan and S. R. Kulkarni, Subclass of meromorphic functions with positive coefficients defined by Ruscheweyh derivative I, *J.Rajasthan Acad. Phys. Sci.*,6(2)(2007),129-140.
- [7] M. Darus, Meromorphic functions with positive coefficients, *Int.J. Math.Sci*, Art. ID 178605, 2010, 12pp.
- [8] J. Dziok and H. M. Srivastava Classes of analytic functions associated with the generalized hypergeometric function, *Applied Mathematics and computation* ,103(1)(1999),1-13.
- [9] A. W. Goodman, Univalent functions and non-analytic curves, *Proc. Amer. Math. Soc.*, 8(1975), 598-601.
- [10] M. S. Liu and N. S. Song, Two new subclass of meromorphically multivalent functions associated with generalized hypergeometric function, *J.Southeast Asian Bull. Math.*, 34(2010), 705-727.
- [11] J. L. Liu and H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, *J. Math. Anal. Appl.* 259(2001), 566-581.
- [12] J. L. Liu and H. M. Srivastava, Class of meromorphically multivalent functions associated with generalized hypergeometric function, *Mathematical and Computer Modelling*, 39(1)(2004),21-24.
- [13] M. L. Mogra, T. R. Reddy and O.P.Juneja, Meromorphic univalent functions with positive coefficients, *Bull. Austral. Math. Soc.*, 32(2) (1985),161-176.
- [14] S. Owa and N. N. Pascu, Coefficient inequalities for certain class of meromorphically starlike and meromorphically convex functions, *JIPAM. J.Inequal. Pure Appl. Math.*, 4(1)(2003),Art.17,6pp.
- [15] Ch. Pommerenke, On meromorphic starlike functions, *Pacific J.Math.*, 13(1963), 221-235.
- [16] S. Ruscheweyh, Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, 81(1981), 521-527.
- [17] S. Sivaprasadkumar, V. Ravichandran and G. Murugusundaramoorthy, class of meromorphic p-valent starlike functions with positive coefficients, *Aust. J. Math. Anal. Appl.*, 2(2)(2005),Art.3,9pp.
- [18] B. A. Uralegaddi and M. D. Ganigi, A certain class of meromorphically starlike functions with positive coefficients, *Pure Appl. Math.Sci.*, 26(1-2) (1987),75-81.
- [19] B. A. Uralegaddi and C. Somanatha, certain differential operators for meromorphic functions, *Houston J. Math.*, 17(2) (1991), 279-284.
- [20] B. A. Uralegaddi and C. Somanatha, New criteria for meromorphic starlike univalent functions, *Bull. Austral. Math. Soc.*, 43(1)(1991),137-140.